1 Corinthians 12:15
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- is the third class conditional particle EAN, meaning “if and it may or may not be true.”  With this we have the nominative subject from the masculine singular article and noun POUS, meaning “the foot.”  Then we have the third person singular aorist active subjunctive from the verb EIPON, which means “to say, speak.”


The aorist tense is a constative aorist, which looks at the action of speaking in its entirety and regards it as a simple fact.


The active voice indicates that the foot produces the action of speaking.


The subjunctive mood is used with EAN in a protasis of a third class condition to express probable future condition.  This is what will probably happen during the Church Age by some believer with a less than spectacular spiritual gift.

“If the foot should say,”

- is the causal use of the conjunction HOTI, meaning “Because” plus the negative adverb OUK, meaning “not” with the first person singular present active indicative from the verb EIMI, meaning “I am.”


The present tense is a static present for a condition that perpetually exists.


The active voice indicates that the foot produces the action of not being a hand.


The indicative mood is declarative for a simple statement of fact.

Then we have the predicative nominative from the feminine singular noun CHEIR, meaning “a hand.”  This is followed by the negative adverb OUK, meaning “not” with the first person singular present active indicative from the verb EIMI, meaning “I am.”


The present tense is an aoristic present for a statement of fact without reference to its progress.


The active voice indicates that the foot produces the action of not being a hand.


The indicative mood is declarative for a simple statement of fact.

Then we have the preposition EK plus the partitive ablative from the article and neuter singular article and noun SWMA, which means “a part of the body.”  If a word in the ablative (SWMA) indicates the whole of which the word it modifies is a part, it is a partitive ablative or genitive.
“‘Because I am not a hand, I am not a part of the body,’”

 - is the negative adverb OU, meaning “not” with the preposition PARA plus the accusative of cause from the neuter singular demonstrative pronoun HOUTOS, meaning “because of this (double negative as a strengthened affirmative) not for that reason any the less 1 Cor 12:15f.”
  Then we have the negative adverb OUK with the third person singular present active indicative from the verb EIMI, meaning “it is not.”  The negative OUK “in combination with other negatives destroying the force of the negation (classical usage): Acts 4:20; 1 Cor 12:15.  In questions, if the verb itself is already negatived (by OU the negation can be invalidated by the interrogative particle MĒ), which expects the answer ‘no’, so that the stage is set for an affirmative answer surely they have heard, have they not? Rom 10:18; cf. vs. 19; we have the right, do we not? 1 Cor 9:4; cf. vs. 5. you have houses, do you not? 11:22.”


The present tense is an aoristic present for a statement of fact without reference to its progress.


The active voice indicates that this situation produces the action of not being the reason for the foot being a lesser part of the body.


The indicative mood is declarative for a simple statement of fact.

Finally, we have the preposition EK plus the partitive ablative from the neuter singular article and noun SWMA, which means “a part of the body.”

“it is definitely not for this reason any the less a part of the body, is it?”
1 Cor 12:15 corrected translation
“If the foot should say, ‘Because I am not a hand, I am not a part of the body,’ it is definitely not for this reason any the less a part of the body, is it?”
Explanation:
1.  “If the foot should say, ‘Because I am not a hand, I am not a part of the body,’”

a.  Paul uses two parts of the human body for his analogy—the human hand and the foot.


b.  Most people consider hands as more important, more beautiful, and more significant than the foot.  The hand represents a more significant spiritual gift, while the foot represents a less significant spiritual gift.


c.  So Paul’s analogy is between someone who has a seemingly more important spiritual gift than someone else.


d.  The person with the hand spiritual gift is in danger of arrogance because they have “a more important” spiritual gift, while the person with the foot spiritual gift is in danger of the arrogance of self-pity because they have “a less important” spiritual gift.


e.  Inevitably someone in every generation of the Church Age is going to be disappointed because they don’t have the spiritual gift that someone else has.


f.  The person sees someone like Billy Graham, who has the dynamic God-given spiritual gift of evangelist, and can hold a crowd’s attention on the message of the gospel.  They only have the gift of pastor-teacher and have to spend all their time studying and teaching people who really don’t care that much.  So pastor-teacher foot feels sorry for himself because he is not evangelist hand.


g.  Then there are those believers who have even less visible spiritual gifts, like the gift of praying for others.  They are completely unseen and unnoticed by anyone.  Their great danger is thinking they are not even saved because they don’t have a spiritual gift that anyone sees.


h.  This was the problem in the Corinthian church.  Those who were not pastors, evangelists, missionary, had the gifts of healing, or miracles, or tongues, etc. thought that they were not saved because they did not have a spectacular spiritual gift.  Nothing could have been further from the truth.


i.  There may have even been a problem of one faction in the church made up of those with spectacular temporary visible spiritual gifts setting themselves up as better Christians than the others with permanent invisible spiritual gifts.


j.  Paul’s point is very simple—regardless of the type of spiritual gift, all believers in Christ are members of the body of Christ, and the type of spiritual gift you have makes no difference.

2.  “it is definitely not for this reason any the less a part of the body, is it?’”

a.  This rhetorical question answers itself.  The answer is, “Of course not.”


b.  Paul is very emphatic here with the double negative, which in Greek makes the negation more emphatic.  This is especially true with a double OUK rather than the normal OUK…MĒ.  There is no stronger way in the Greek of saying that the type of spiritual gift you have makes you any less a part of the body of Christ.


c.  On the other hand this is the most emphatic way Paul could possibly tell the Corinthians that every member of the Corinthian church, who was a believer in Christ, was a part of the body of Christ, part of the royal family of God.


d.  In fact, there is not one reason why anyone who believes in Christ is any less a part of the body of Christ.  It is an absolute status, depending on faith alone in Christ alone.


e.  There is only one way to become a member of the body of Christ and that is to believe in Christ.


f.  There is only one reason to not be a member of the body of Christ, and that is to not believe in Christ.


g.  Every member of the body of Christ is significant and important to our Lord Jesus Christ.  How do we know this?  Because there is no partiality with God.
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